N & 0l & AF S & M M

o AP =X H YD

20148 & 20

SH SNEHY
Ba: =0Tl

&2 MISXXE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

SXE M 524,394,222 445,358,361 79,035,861
= 334,637,888
& 817,995
& 188,938,339

sXolgtxd 13,106,998 10,698, 780 2,408,218
= 6,864,669
< 6,242,329

Mol = XX 13,106,998 10,698, 780 2,408,218
= 6,864,669
< 6,242,329

SXN20F 24 63,400 74,200 A 10,800

201 Let24d] 27,000 27,000 0

01 At 22/l 27,000 27,000 0
Ot & =2l 27,000

203 R =&t 36,400 47,200 A 10,800

03 AIMF=XH R =AY 36,400 47,200 A 10,800
OAZI =X =& 36,400

AMEIEXAIY 283 XI& 345,000 340,000 5,000

307 21201 A 345,000 340,000 5,000

10 A3l S X2 = 345,000 340,000 5,000
S=EAMEXE 2 215,000
OMsl=Xss223 & 90,000
O ZEEWT 29 40,000

A3 SXAF H &3 10,000 10,000 0

307 21201 A 10,000 10,000 0

10 AFRISXIE X 10,000 10,000 0
Os=U2AE =SR2 HES 10,000

M2 ZSXAL Ex+1=F X 48,000 0 48,000

307 21201 A 48,000 0 48,000

10 A2l S X2 X 48,000 0 48,000
OMI=XAN Exns N& 48,000

A A SXNSRE AES 5,000 0 5,000

201 L4l 5,000 0 5,000

03 & Ar2 Z I 5,000 0 5,000
OU 7 ASIESXSRE HEs XJ 5,000

AtZEXlel B0tE =M 8,000 8,000 0

308 XXM SOIA 8,000 8,000 0

01 AXHHIYEES 8,000 8,000 0
OAt=l =X & I8 & A 8,000




2N
X ZH -
L= B

el

SXE3
SAolgtxd
Atal = XX &

= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
MBI SEXAIE HEX A2 100,000 100,000 0
301 LEtE A= 100,000 100,000 0
01 MEIEBEZE+06l= 100,000 100,000 0
OMSISXIAE M 22 100,000
MIZSXAESAI 2 K2 195,240 175,470 19,770
307 21201 A 195,240 175,470 19,770
10 A3l S X2 = 195,240 175,470 19,770
OAESXAIE SAA URY K& 195,240
ANZ ASISXAIE SMI U2 X2 3,348,588 2,832,955 515,633
308 XX EHH SOl A 3,348,588 2,832,955 515,633
01 X HHIBLEXS 3,348,588 2,832,955 515,633
OAZ MIIEXAEEMT WS 3,348,588
H2A=XNAE 2N 95,400 131,400 A 36,000
308 AHAIEHH SO 95,400 131,400 /36,000
01 AXNSHBLEES 95,400 131,400 A 36,000
OMel2I=XAE 22 XA 95,400
SYOUANLE X 3,332,498 3,263,272 69,226
= 2,329,624
< 1,002,874
308 XXM SOl A 3,238,748 3,210,000 28,748
= 2,267,124
= 971,624
01 IXNHHBNEES 3,238,748 3,210,000 28,748
ORgoANE 248 X 3,238,748
= 2,267,124
< 971,624
403 A X EHS =0l A 93,750 53,272 40,478
= 62,500
= 31,250
01 X EHHMA=LE L 93,750 53,272 40,478
ORYUANHE JIsES 93,750
= 62,500
< 31,250
C=0AE Ot MAsE 2,922 0 2,922
201 L2l 2,922 0 2,922
01 At 2t 2l 2,922 0 2,922
OL=QAIE BItMAE 2,922
S At 22l A X 773,552 752,063 21,489
= 595,040
< 178,512
308 XXM SOIA 773,552 752,063 21,489




2N
X ZH -
L= B

el

SXE3
SAolgtxd
Atal = XX &

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
= 595,040
< 178,512
01 AXHHIYEES 773,552 752,063 21,489
OSerAtdl 22l Ab XI & 773,552
= 595,040
S 178,512
SS=SXNEEHA HA 4,122,398 2,481,420 1,640,978
= 3,940,005
< 182,393
308 XX EHH SOl A 4,122,398 2,481,420 1,640,978
= 3,940,005
< 182,393
01 AXSHBLELS 4,122,398 2,481,420 1,640,978
OXEE NG=X HEHAH KL 1] 2,890,800
= 2,772,000
< 118,800
O=g=42 &5 SNMHEMHA 25 492,750
= 472,500
< 20,250
Osds aagxesy 1A 644,528
= 616,905
< 27,623
OAtdl2elAtd 2g8 X & 94,320
= 78,600
< 15,720
SESCTEMI=ENEH 2SR 430,000 420,000 10,000
307 21201 A 430,000 420,000 10,000
05 RIZtel & 3 430,000 420,000 10,000
OS3=EL ZEMI=RNLH 29 430,000
= SANSgsdy 29 110,000 110,000 0
307 gl2tol & 110,000 110,000 0
10 Al =S X2 X 110,000 110,000 0
Os= =2NSEg2dH 22X 110,000
SE=2E NGA=EXAHE =8 A 40,000 0 40,000
207 A& Y| 40,000 0 40,000
01 A EAHI 40,000 0 40,000
OSE=E NAMEEXNHE 8 89 40,000
MIISXAF S SAX S AEHE A 30,000 0 30,000
207 A RO H| 30,000 0 30,000
01 289 30,000 0 30,000
OAEEXAL & SAXR HR AEHZ AL 30,000
AEIER2 AIEHA 40,000 0 40,000




SH SNEHY
Ba: =0Tl

CHRl: A2 XX (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
403 XX SHHS K20 ™ 40,000 0 40,000
01 XIS A=Z2E X 40,000 0 40,000
OAIZI 2 X2 AIEHH 40,000
NEAMSSANE2AM XS 7,000 0 7,000
403 XX SRS K20| & 7,000 0 7,000
01 MXHHE2E =X 7,000 0 7,000
OXEMI=XNEAM M22D X3 7,000
OtS=E X AHAXS 29,000,276 28,582,808 417,468
= 12,101,321
= 817,995
= 16,080,960
KNGOS ESAIE X & 29,000,276 28,582,808 417,468
= 12,101,321
= 817,995
o= 16,080,960
ols kg xeoss)sed 12,000 11,671 329
307 QI2t0| ™ 12,000 11,671 329
10 M3 EXEX 12,000 11,671 329
Oolsxglezzdsy 12,000
FSSXAIESAXAS 25,000 5,000 20,000
307 2Iz2t0| & 25,000 5,000 20,000
10 MM SR EX 25,000 5,000 20,000
OIS =EXAIESALA o1& 2 25,000
ISHESAHE4LAEG L AR 38,500 38,500 0
307 2iz2tol A 38,500 38,500 0
10 Ml S X EX 38,500 38,500 0
Oolgloly sAr 8,000
A A OFS GOl & SHAL 4,500
OO0IsEXNAE =203 =& 18,000
OO0lsEXA4E Z2UR0=H 8,000
XNEotsdEH2I X & 7,195,382 5,848,787 1,346,595
= 5,534,911
& 1,660,471
308 XAHXIEHSOIA 7,195,382 5,848,787 1,346,595
= 5,534,911
& 1,660,471
01 AIXSHMEMNEX= 7,195,382 5,848,787 1,346,595
OX<E0otsHdyH 29X 7,195,382
= 5,534,911
= 1,660,471
OS2 X WA 1,563,744 1,428,367 135,377




S 2 XH
HHM: OlSEXAMHIAXR

e XNYE0lsSESAIE X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

= 1,202,880
= 360,864

308 XNHXIGHH SO0l & 1,563,744 1,428,367 135,377
= 1,202,880
& 360,864

01 IHXHHNIMNEXS 1,563,744 1,428,367 135,377
Qot=s=X WAl 2H]) X 1,563,744
= 1,202,880
= 360,864

XNE0lsSHEH SE3sEXS 29 169,260 196,804 N 27,544
= 84,630
o= 84,630

307 212t0| & 169,260 196,804 N 27,544
= 84,630
=} 84,630

10 MM S X EX 169,260 196,804 N 27,544
OXE0tsSHH SE3SZXJAL 29 169,260
2 84,630
& 84,630

NEOtSHEZE I 39,836 24,720 15,116
2 19,918
o=t 19,918

307 2iz2to| A 39,836 24,720 15,116
= 19,918
& 19,918

05 QIZ2tR &2 39,836 24,720 15,116
OXNSOotsHEH ot 39,836
= 19,918
o= 19,918

IS XX & 697,027 919,647 A 222,620
= 617,619
=} 79,408

308 MXISHHMSOIA 697,027 919,647 N 222,620
= 617,619
& 79,408

01 IXHHIMNEXS 697,027 919,647 A 222,620
ogady s 29,242
= 25,911
& 3,331
O&MOlEs YAAs 22 46,994
= 41,640
o=} 5,354
OYe=D|2t 2K 8,769
= 7,770
& 999
OgAots s I 612,022




2N
X ZH -
L= B

el

SXE3
Ot =X MEIAXA
NEotsES M RA

SA - FE - BI(EA) - NRAY - By 0l &t San DS

= 542,298
= 69,724

2ES0ts 1858 2gX& 615,441 600, 552 14,889
- 424,442
=) 190,999

308 XXIEHHSOIA 615,441 600, 552 14,889
- 424,442
=) 190,999

01 AXHHBAEES 615,441 600, 552 14,889
ORESsIEE 23X 615,441
- 424,442
= 190,999

OtsAld JIsEZ 156,000 460,000 A304,000
= 120,000
= 36,000

403 A X EHHS =0l A 156,000 460,000 A 304,000
= 120,000
= 36,000

01 XXM 22 = 156,000 460,000 A 304,000
O0tsAlE JIs2d 156,000
= 120,000
=) 36,000

OtsSEMEIAXA 3,600,000 3,600,000 0
= 3,600,000

308 At EHHSOIA 3,600,000 3,600,000 0
= 3,600,000

01 HXNHHNBHELS 3,600,000 3,600,000 0
OtsES&MElIA~ I 3,600,000
= 3,600,000

JIIEREOs dolEE 2 XA 37,166 42,210 A5,044
= 26,016
=) 11,150

201 L4l 37,166 42,210 A5,044
= 26,016
=) 11,150

02 =224l 37,166 42,210 25,044
OJE?E0S dollEE= XN& 37,166
= 26,016
< 11,150

Ot 22 XI& A = 525,920 488,717 37,203
= 466,005
< 59,915

308 XtXIEHHSOIA 525,920 488,717 37,203
= 466,005
< 59,915




2N
X ZH -
L= B

el

SXE3
Ot =X MEIAXA
NEotsES M RA

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 IXNHHBANEES 525,920 488,717 37,203
OO0tsZ & X2 H & 525,920
= 466,005
< 59,915
NHEASKN2HH 2 297,154 277,154 20,000
= 138,577
= 158,577
307 21201 A 297,154 277,154 20,000
= 138,577
< 158,577
10 A2l =S X2 X 297,154 277,154 20,000
OJNEAEXN2HE 2F(01) 297,154
& 138,577
= 158,577
Z2o0|2 2Y 215,707 209, 340 6,367
& 104,670
< 111,037
307 glz2tol & 215,707 209, 340 6,367
=2 104,670
< 111,037
10 AtSI =S X2 X 215,707 209,340 6,367
OZaJI&22F(01) 215,707
= 104,670
< 111,037
IIsEsdEIN2 299 1,176,344 1,149,496 26,848
& 574,748
< 601,596
307 21201 A 1,176,344 1,149,496 26,848
& 574,748
< 601,596
10 A3l S X2 = 1,176,344 1,149,496 26,848
ONSESEIIA 2Y(01Y) 1,176,344
=2 574,748
S 601,596
OtssEXNAd 24 1,667,894 1,422,853 245,041
308 XtXIEHH SOl A 1,667,894 1,422,853 245,041
01 AXSHBLELS 1,667,894 1,422,853 245,041
OOtS=EXAIE 2L (01Y) 1,667,894
QAN 22H 4,755 4,755 0
308 XXM S0 A 4,755 4,755 0
01 AXNSHHBLEES 4,755 4,755 0
OgyI&22F(01) 4,755
ZEIIE0IsES 153,468 166,320 A 12,852




S 2 XH
HHM: OlSEXAMHIAXR

?2: XNASESAE XA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 XXM SO0l A 153,468 166,320 A 12,852
01 IXNHHBNEES 153,468 166,320 A 12,852
OZgltyolseEs 153,468
2EAEHIE 2 ANEEAOlES & XY X 413,500 486,000 AT2,500
308 XtXIEHHSOIA 413,500 486,000 AT2,500
01 AXHHBIYEES 413,500 486,000 AT2,500
OAGAHINE L ALHEAOSSE HEXA(0
o) 413,500
Ols24 U (3IIE) 6,301,208 6,628,388 A 327,180
308 XXM SO A 6,301,208 6,628,388 A 327,180
01 IXNHHBNEES 6,301,208 6,628,388 A 327,180
ONSSAMEUXA(EIST) 6,301,208
(== EADNE 3,704,264 4,218,384 A 514,120
308 XX EHH SOl A 3,704,264 4,218,384 A 514,120
01 AXHHILEES 3,704,264 4,218,384 A 514,120
OOtS=AXI2(012) 3,704,264
2EAHE XA 11,088 16,272 A5, 184
308 MtXIEHSOIH 11,088 16,272 25,184
01 HXNHHBHELS 11,088 16,272 A5, 184
OAEAMHIE XA (01Y) 11,088
IHERE =X 79,776 98,496 A 18,720
308 XX EHH SOl 79,776 98,496 A 18,720
01 HIXNHHNBMNEES 79,776 98,496 A 18,720
OJtg2e =X (01Y) 79,776
ANEOtSEIIM ¥ =St &#H X 51,122 46,735 4,387
308 XXM SOIA 51,122 46,735 4,387
01 AXHHILEES 51,122 46,735 4,387
OAME0ts&E AN & =St U X & 51,122
QX INEAE del= X AY 7,000 16,000 A9,000
= 4,900
< 2,100
307 21201 A 7,000 16,000 A9,000
= 4,900
< 2,100
10 A2l =S X2 X 7,000 16,000 A 9,000
OYLIFEOE delxlg XA 7,000
= 4,900
< 2,100
XNEotsdE SAX MSIHAE X2 102,240 98,640 3,600




2N

EPARSE )

M Ots=XMUIAXA
?2: XNASESAE XA (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

308 XXt S0 A 102,240 98,640 3,600

01 IXNHHBNEES 102,240 98,640 3,600
OXYotsdH SAR M Hsddl X2 102,240

QES0ts1EE EMAXMRMAE K& 10,080 0 10,080

308 XXIEHH S0l A 10,080 0 10,080

01 IXNSHHBAMNEES 10,080 0 10,080
ORESO=IEE EMA MRMsH K& 10,080

NGotsdEH AR 24,000 0 24,000

403 Mt S E X201 & 24,000 0 24,000

01 XXM A=2E = 24,000 0 24,000
OX<gotsdH AIZIHA 24,000

NEotsdEH HHsS &0t el 20,000 0 20,000

307 glz2tol & 20,000 0 20,000

10 AtEI =S X2 X 20,000 0 20,000
OXYotsdH HIHEsS &ots tal 20,000

AGotsdH JIs22 70,400 0 70,400

403 XXM S K201 A 70,400 0 70,400

01 XM A=2EE 70,400 0 70,400
OXgotsdH JIsE2d 70,400

22 SZML 15,000 0 15,000

403 XSS X201 & 15,000 0 15,000

01 HXISH A= F 15,000 0 15,000
OES3d &Zid 15,000

SJtEEZ 2 397,500 508,300 A 110,800

SEUHLT HSAXH 397,500 508,300 A 110,800

ES20 RFA 8,000 20,000 212,000

203 R F=&H| 8,000 20,000 A 12,000

03 Al =R R =AYl 8,000 20,000 A 12,000
OES=20F 2F& 8,000

SIEEUAAILY L ESIESAHA 18,000 18,000 0

307 gl2tol & 18,000 18,000 0

10 A2l S X2 X 18,000 18,000 0
OZZEEUY AN E EEI0HS A 18,000

SHRSN 2d=H X2 28,000 27,300 700

308 XXM S0 A 28,000 27,300 700

01 AXNSHHBLAEES 28,000 27,300 700
SER3N 2d=H N 28,000
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2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET

01 IXNHHBANEES 1,760,289 2,343,131 A 582,842
O2U== XX AS 1,760,289
= 1,760,289

MASTHUEEN2S dstnsy 23 106,400 106,400 0

308 XtXIEHHSOIA 106,400 106,400 0

01 X HHILEES 106,400 106,400 0
OMASAE ESH2 gsud 29 106,400

FRLIEoNA 3,972,000 3,691,031 280,969
= 3,972,000

308 AHAIEHHSOIA 3,972,000 3,691,031 280,969
= 3,972,000

01 HXNHHBHELS 3,972,000 3,691,031 280,969
OJdIz=2 A 3ol & 3,049,000
= 3,049,000
OXaAANE =2 K& 923,000
= 923,000

MA=0 KA 100,756,202 106,160,576 A5,404,374
= 91,533,000
< 9,223,202

308 XtXIEHH SOl A 100,756,202 106,160,576 A5,404,374
= 91,533,000
< 9,223,202

01 HXNHHNBSELS 100,756,202 106,160,576 A5,404,374
MA SN 100,756,202
= 91,533,000
< 9,223,202

FHs0W A& 27,885,113 23,217,326 4,667,787
= 25,373,000
< 2,512,113

308 XX EHH SOl 27,885,113 23,217,326 4,667,787
= 25,373,000
< 2,512,113

01 HIXNHHNBMNEES 27,885,113 23,217,326 4,667,787
FAHA20 27,885,113
= 25,373,000
= 2,512,113

nEs0 XA 3,104,000 3,845,713 AT41,713
= 3,104,000

308 XXIEHHSOIA 3,104,000 3,845,713 AT41,713
= 3,104,000

01 IXNHHBAMNEES 3,104,000 3,845,713 AT41,713
Ou=ss0d XN& 3,104,000
= 3,104,000




SM: =2XNEHY
XEM: CO J|2MS OFX
(=R B — [—

HR: HASE HEEH (&)
SA - BB B () - MM - BES Ol &t o San HmEET
HAZFHSH XA 861,000 924,077 AB3,077

= 861,000
308 XX EHHSOIA 861,000 924,077 AB3,077
= 861,000
01 HIXNHHBNEES 861,000 924,077 AB3,077
Ol &t EFH=0 XA 861,000
= 861,000
HASE AHEXE XA 26,295,542 25,269, 188 1,026,354
= 23,975,886
< 2,319,656
NE2Z ALY 10,976,880 11,819,277 A 842,397
= 10,274,000
< 702,880
308 XXM SOl A 10,976,880 11,819,277 A 842,397
= 10,274,000
< 702,880
01 IXNHHBANEES 10,976,880 11,819,277 A 842,397
OXE=22 At 10,976,880
= 10,274,000
< 702,880
ANeitedeH2g98 XA 1,913,877 1,807,158 106,719
= 1,913,877
308 XX EHH SOl A 1,913,877 1,807,158 106,719
= 1,913,877
01 HXNHHBHELS 1,913,877 1,807,158 106,719
OXNS el 228l 1,913,877
= 1,913,877
NAXedEH 2ds X2 96,000 0 96,000
308 XX EHH SOl 96,000 0 96,000
01 HXNHHBMNELS 96,000 0 96,000
OXEAY &4 =& ArH K& 96,000
ZATEHH 24 X3 451,250 0 451,250
= 315,875
< 135,375
307 glz2+ol & 451,250 0 451,250
= 315,875
< 135,375
10 A3l S X2 X 451,250 0 451,250
OZgxadyd 234l 451,250
= 315,875
< 135,375
ZATEAEH AFSH XA 20,000 0 20,000
307 21201 A 20,000 0 20,000




SM: =2XNEHY
HE: 0 J|2ME X

2 MASSE HENE N (&)
SA - BB B () - MM - BES Ol &t o San HmEET
10 A3l S X2 = 20,000 0 20,000
ZAXEHEH A 20,000
SUSHTEAY 1,118,000 917,550 200,450
= 894,000
< 224,000
307 21201 A 1,118,000 917,550 200,450
= 894,000
< 224,000
10 A2l =S X2 X 1,118,000 917,550 200,450
OIS TEAY 1,118,000
= 894,000
< 224,000
AHECHE S 14,000 14,000 0
307 glz2tol & 14,000 14,000 0
10 AtEI S X2 X 14,000 14,000 0
oxgtsua 14,000
s N 681,000 903,000 A 222,000
= 681,000
308 XXM SO A 681,000 903,000 A 222,000
= 681,000
01 IXNHHBENEES 681,000 903,000 A 222,000
OX&g&aA= 681,000
= 681,000
SIS SEAYE XE 1,373,400 1,191,000 182,400
= 1,373,400
308 XXIEHHSOIA 1,373,400 1,191,000 182,400
= 1,373,400
01 AXNHHBANEES 1,373,400 1,191,000 182,400
OsLISSEFAY XA 1,373,400
= 1,373,400
JbAL2EE E R0l AF Rl RI& 675,214 571,269 103,945
= 607,226
< 67,988
308 A EHHSOIA 675,214 571,269 103,945
= 607,226
< 67,988
01 HIXNHHNBHEES 675,214 571,269 103,945
ONAMZEER0] AL 675,214
= 607,226
< 67,988
NS ASI MBI ASERALE =& 8,927,921 8,030,934 896,987
= 7,916,508
< 1,011,413




SH SNEHY
XEM: CO J|2MS OFX
(=R B

G MASES NEXNEY X (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
202 04| 5,143 0 5,143
= 3,600
& 1,543
01 2Ll 5,143 0 5,143
OXSASHEIA EXAIE =X 0| 5,143
2 3,600
o= 1,543
307 212t0| & 262,000 210,000 52,000
= 183,400
o=} 78,600
10 MMl S XIEX 262,000 210,000 52,000
OXSAMIMEIA XS 2H 247,000
= 172,900
& 74,100
OXYAS AHIA EXAIY RS 15,000
= 10,500
& 4 500
308 MXISHMSOIA 8,660,778 7,820,934 839,844
= 7,729,508
= 931,270
01 IXHHIMNEXTZ 8,660,778 7,820,934 839,844
OXYAIS HMH A EXAIY 8,550,319
= 7,630,208
= 920, 111
OXEASIHEIA SEXAIY 22| 2EH| 110,459
= 99,300
o= 11,159
XAREHEH JsEZ 18,000 15,000 3,000
403 XX SHHS K20 & 18,000 15,000 3,000
01 R EH X =2 =X 18,000 15,000 3,000
OXNEX&EdH Jise2d 18,000
MNAES F=HEE HEAMY 30,000 0 30,000
403 XX ESHHS K20 & 30,000 0 30,000
01 R ESH K22 = 30,000 0 30,000
OMASEE FHEH NEAY 30,000
= MHUA X 282,646,567 204,926,921 77,719,646
= 165,062,723
= 117,583,844
CHFst Ex AHHIA 20 282,646,567 204,926,921 77,719,646
= 165,062,723
== 117,583,844
BEEENUA 32,820,071 31,192,285 1,627,786
= 22,566,027
& 10,254,044




SN =SXHHD
B BRAUA X

el Ohgst 8sHH A 20 (e H)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
307 2izto| A 265,700 195,236 70,464
= 132,850
& 132,850
10 SIS XIEX 265,700 195,236 70,464
O M AT A H| 265,700
= 132,850
= 132,850
308 AMXISHMSOIA 32,554,371 30,997,049 1,557,322
= 22,433,177
o=} 10,121,194
01 AIXSHMENEXZ 32,554,371 30,997,049 1,557,322
OEBEss=sAMHlA 32,554,371
= 22,433,177
& 10,121,194
Hel ol & A& 5,395,039 4,508,063 886,976
= 3,807,078
= 1,587,961
308 XX G SOIA 5,395,039 4,508,063 886,976
= 3,807,078
= 1,587,961
01 AIXSHMEMNEX= 5,395,039 4,508,063 886,976
O M| 379,740
- 272,278
= 107,462
OXgadg9| 368,318
= 247,270
= 121,048
QA2 8HIAHl X 4,471,361
= 3,168,858
= 1,302,503
OsHE &M goloelol® X 175,620
= 118,672
& 56,948
Helo|&DIseEd 757,463 694,035 63,428
= 504,975
o 252,488
403 XX SHHS K20 & 757,463 694,035 63,428
= 504,975
o 252,488
01 XIS A=2E X 757,463 694,035 63,428
ONeold Jised 757,463
= 504,975
= 252,488
AR0E2EE=2 XS 125,837,722 106,261,932 19,575,790
= 99,284,000
& 26,553,722




2N
D ESAMHA XY

el

X ZH
S =

EPARSE )

Ctest ESAHI A =

SA - BB B () - MM - BES Ol &t o San HmEET
308 XXM SO0l A 125,837,722 106,261,932 19,575,790
= 99,284,000
< 26,553,722
01 IXNHHBNEES 125,837,722 106,261,932 19,575,790
Ogwot 283 XA 125,837,722
= 99,284,000
< 26,553,722
gus 252 & 64,061 73,724 A9,663
308 XtXIEHH SOl A 64,061 73,724 A9,663
01 X HHILEES 64,061 73,724 A 9,663
ogn=s 282 XA 64,061
FoltE 29 64,106,200 25,533,390 38,572,810
308 MtXIEHSOIH 64,106,200 25,533,390 38,572,810
01 HXNHHNBHEES 64,106,200 25,533,390 38,572,810
Ofeclutd XA 64,106,200
ItELgs2 N 46,962,672 31,498,789 15,463,883
= 37,017,000
< 9,945,672
308 X EHSOIA 46,962,672 31,498,789 15,463,883
= 37,017,000
< 9,945,672
01 HIXNHHBNEES 46,962,672 31,498,789 15,463,883
Olggs=9 A& 46,962,672
= 37,017,000
< 9,945,672
ALESZEHH2IE 312,000 312,000 0
= 156,000
< 156,000
307 21201 A 312,000 312,000 0
= 156,000
< 156,000
10 AFRISXIE X 312,000 312,000 0
OsE=EEEsZ32dH 29 312,000
= 156,000
< 156,000
Helold w2t X 83,532 83,532 0
= 41,766
< 41,766
307 gl2tol & 83,532 83,532 0
= 41,766
< 41,766
05 RIZHRIE 3 83,532 83,532 0
OB oI AL XA 83,532
= 41,766




2N
X ZH -
L= B

el

=X F & D
EEAMHA X
st SgAMHIA 2

SA - BB B () - MM - BES Ol &t o San HmEET
| < 41,766
ESNAHAAS 10,000 7,500 2,500
307 glz2tol & 10,000 7,500 2,500
10 A3l =X 2 X 10,000 7,500 2,500
OEsuIAAS 10,000
20 Sus ¥ d=Z=50Y [FXNE =2/3¢ 16,000 16,000 0
307 glz2+ol & 16,000 16,000 0
10 A3l S X2 = 16,000 16,000 0
ORI du=s & =5 FXNE =
o 16,000
E]09 Y HAXA 9,000 9,000 0
307 glz2tol & 9,000 9,000 0
10 A3l =X 2 X 9,000 9,000 0
OEsQ9 & #HAX 9,000
EFVIA™MSMHEHI KR 3,065,280 2,654,496 410,784
308 XXIEHHSOIA 3,065,280 2,654,496 410,784
01 AXNHHBANEES 3,065,280 2,654,496 410,784
OE=suwX@d MRHMLH X 3,065,280
IS AMEEH=Z K& 21,260 19,740 1,520
308 MtXIEHMSOIH 21,260 19,740 1,520
01 HXNHHNBHEELS 21,260 19,740 1,520
OZIIBANE W =2 XA 21,260
OIS AIE &Ll X3 85,800 0 85,800
308 AHXIEHHSOIA 85,800 0 85,800
01 HIXNHHNBMNELS 85,800 0 85,800
OEIIAESAIL et X 85,800
Heoldt2sE ROt REXA 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
10 A3l S X2 = 10,000 10,000 0
oogold th=2stgd =0t A& 10,000
OEols "otes ALY 10,000 10,000 0
307 21201 A 10,000 10,000 0
10 AFRISXIEX 10,000 10,000 0
OO old Eitels =S AY 10,000
238 Helold 2¢ 2,378,000 1,714,558 663,442
= 1,668,000
< 710,000
308 AHAIEHHSOIA 2,378,000 1,714,558 663,442




P ESANE AL
B MHIA X3
COheEt ESAHIA =

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 1,668,000
< 710,000
01 AXHHIYEES 2,378,000 1,714,558 663,442
Ozsg80eod 29 2,378,000
= 1,668,000
S 710,000
OOt 2020l 28 oA N& 60,000 54,000 6,000
308 MtXIEHSOIH 60,000 54,000 6,000
01 HXNHHNBHEES 60,000 54,000 6,000
OZOOtE 20 0lE 28 dHl X& 60,000
Helold & JtE SAEHZ ALY 40,000 40,000 0
307 glz2tol & 40,000 40,000 0
10 AtSI =X 2 X 40,000 40,000 0
OEold & I8 TAHAEEZ HHAY 40,000
Heold MHR3H ns ¢ 2148 10,000 0 10,000
307 glz2+ol & 10,000 0 10,000
10 A3l S X2 = 10,000 0 10,000
Ooogold MReH ns & 2144 10,000
e ot BHSHEXA 52,000 52,000 0
308 XtXIEHHSOIA 52,000 52,000 0
01 AXHHILEES 52,000 52,000 0
Ooogold et B Hsa S2MEXA 52,000
S MU AKX 7,000 0 7,000
201 £B-2dH| 7,000 0 7,000
01 At 22l 7,000 0 7,000
OBSAY CHHX Rl 7,000
HEl Ol R2L2LIHEH2Y 26,815 17,877 8,938
= 17,877
< 8,938
308 XX EHSOIA 26,815 17,877 8,938
= 17,877
< 8,938
01 HIXNHHBNEES 26,815 17,877 8,938
O020ld F22LIHEH 2Y 26,815
= 17,877
< 8,938
EsndA ¥I)|252RE 214,452 0 214,452
308 XtXIEHH SO0l A 214,452 0 214,452
01 AXHHBIYEES 214,452 0 214,452
OESEnI HJI2s5+Y X 214,452




SH SNEHY
HE: 2RMHA X

Sl CHY s ERAMHIA = CEEEED
4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
HEl 0| Hotels XN&ERA &2 A 22,200 0 22,200
308 XX EHSOIA 22,200 0 22,200
01 AIKSHHEMNEX= 22,200 0 22,200
ONelold "olels XZRA &2 I 22,200
Helold sHEIME A 250,000 0 250,000
403 XX SRS K 20| & 250,000 0 250,000
01 XIS AZ2E X 250,000 0 250,000
ONel ol SEHINAAL 250,000
SHE2EC BESEBHEH SHHINAAS 10,000 0 10,000
402 SI2FXHE0| & 10,000 0 10,000
01 812t X2 X 10,000 0 10,000
O=ZE=TEBEsdEBHAH EHHNLHAY 10,000
HUZHHEEH JsE2d 10,000 0 10,000
403 XX SHHS K201 A& 10,000 0 10,000
01 XIS AS2E X 10,000 0 10,000
OXUYZHHHEEH JsEd 10,000
M4 DEG HSIIEtXRH 3,649,000 4,285,800 A 636,800
= 30,000
& 3,619,000
SAEHAXS 3,649,000 4,285,800 A 636,800
= 30,000
& 3,619,000
SHEH=Z NS ALY 3,528,000 4,069,800 A 541,800
308 XX EH SO A 3,528,000 4,069,800 A 541,800
01 AIXSHMEMNEX= 3,528,000 4,069,800 A 541,800
OsMt&EEHZ2 AH 3,528,000
MEA DEASIUE 2 5,000 5,000 0
201 LBt Y| 5,000 5,000 0
01 AP 22| d| 5,000 5,000 0
ONSH DE3 e s22 ME 5,000
OLOI D] ZE2H4 228 29 60,000 70,000 A 10,000
= 30,000
= 30,000
307 QI2t0| ™ 60,000 70,000 A 10,000
= 30,000
=} 30,000
10 Al S X2 X 60,000 70,000 A 10,000
OO0l E2HA 228 2¢ 60,000
= 30,000
& 30,000




SN =NEH
M MEA - DHS HSIIBtEH
& SM4FHAXR (cho &)
SA - BB B () - MM - BES Ol &t o San HmEET
HEHEXE RS MHFW= 50,000 95,000 A 45,000
307 glz2tol & 50,000 95,000 A 45,000
10 AtSI =X 2 X 50,000 95,000 A 45,000
OHEHEXE /s 483n= 50,000
=3 AP WF AAl 6,000 6,000 0
307 21201 A 6,000 6,000 0
10 A3l S X2 = 6,000 6,000 0
O=3 FUWE AAl 6,000
HE2IAZH (S E ) 88,724 92,724 A 4,000
Jl2&dl 88,724 92,724 A 4,000
JlE2&l 88,724 92,724 A 4,000
201 et 20,664 20,664 0
01 At 221l 20,664 20,664 0
OJle=+=EHl 8,688
OJles gl 11,976
202 o4dl 45,360 45,360 0
01 = LH o4 1l 45,360 45,360 0
OJl=0tl 45,360
203 YR =&t 22,200 22,200 0
01 ) 22L =& 6,600 6,600 0
OBA=XN=% 6,600
04 RN2ELRZ=TH| 15,600 15,600 0
O=X &t 4,200
O QI Z0H Q! Bt 4,200
OBAZ 1 4,200
OalZoZ oMt 3,000
405 XHoHF S HI 500 4,500 A 4,000
01 AL ESFH S 500 4,500 A 4,000
ObreI gl =g 500
MWE&s 30,764,611 30,705,586 59,025
HEAHHK = 30,764,611 30,705,586 59,025
HEHAH X = 30,764,611 30,705,586 59,025
701 JIEtl AN E S 29,764,611 30,705,586 A 940,975
01 JIEtSl AN ES 29,764,611 30,705,586 A 940,975
OY=2=SHEEIAN B 29,764,611
702 )I3HEES 1,000,000 0 1,000,000
(RPIE=RSE<t= 1,000,000 0 1,000,000

_20_




SN =2XEYY
HH: HREs

el WRAHAHXS

SA-3H-S(3AH) - MRAS - BES Off &t 24

OMoli2=Jl= & 1,000,000

W

=

i
2




